Class-X Session 2022-23
Subject - Mathematics (Standard)

Sample Question Paper - 38

With Solution
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Time :3 Hoors Mlax. Marks : 80

L This Juestion paper cantains - five sections A, B, C, D and E. Each section is compulsory. However, there are internal
choices in some guestions.

Section A has 18 MCQ and ()2 Assertion-Reason based questions of | mark each.
Section B has § Very Short Answer {VEA)-type gquestions of 2 marks each.

Section C has & Short Answer (54)-type questions af 3 marks each.

Section D) has 4 Long Answer (LA )-type questions of § marks each.

= RV R S PR

Section E has 3 case based integrated units of assessment (4 marks each) with sub parts of values of I, { and 2
marks each respectively.

SECTION-A (Multiple Choice Questions)

Each question carries | mark.
1. A class of 20 boys and 15 girls is divided into n groups so that each proup has x boys and y girls. Values of x, y and n

respectively are

() 3,4and& (b} 4,3 andé6 {c) 4,3and? (dy 7,4and3
2. Which ofthe following 15 the other name for a pair of linear equations in two variables?

(a) Consistent equations (b) Simultaneous equations

(¢} Inconsistent eguations (d) Dependent equations
3. Letfixr)= - 2Tx+ 196 Iff{a)= a, then what is the value of a.

(a) 7 by 14 ey 21 d)y &
4.  Ifthe roots of 5x%— kx + | = D are real and distinct, then

(2) 2/5<k<25 ®) k>2V5 only

(€} k<=24/5 only (d) either k=25 or k<=25
5.  Thefirst termofan AP is 5 and its 100™ term is -292_ The 50® term of this A P. will be

(a) 142 by —142 (c) 130 (d)y -140

. AE BC : i

6.  Ifm AABC end ADEF, E=E,ﬂ1m they will be similar, when

(a) £B=_ E (b} £A=.sD {€) £B=.sD (d)y ZA=,F
7.  Ifthe point P (p, g) 1s equidistant from the points 4 (a+ b, b—a) and B (a - b, a+ b), then

(a) ap=bhy ib) bp=ay (c) ap+bg=10 id) bp+ag=10
8 Then™termoftheAP g 3a, 5, ..., 18

(a) na by (2m—1)a (c) (Im+l)a (dy Zna
9. IfAABC isan equilateral tnangle such that 40 1 BC, then 40P =

34’ 1z’ 3 3
A — B — C =B D —
3 2 4 3

jg) AandC b} 4 ey D (d}y BandC

10. In the adjoining figure, TP and TQ) are the two tangents to a circle with centre O. If LPOQ = 1107, then £LPTQ s
P 1
L]

i

(m) &0° (b) WF (c) BOF (dy S



11. Ifcosecx—cotx= 3 . where x = 0, then the value of cos®s — sin’x is

16 . ] .
&) 33 (b) 33 e} 33 (@ 33
11, The paint which divides the line joining the points 4 (1, 2)and B(-1, 1) internally in the ratio | : 215
-15 1 5
@ |53 ® |33 (© (-1, 9) @ (1,5
13. The radii of the top and bottomn of a bucket of slant height 45 cm are 28 cm and 7 cm, respectively. The curved surface area
of the bucket 15
{a) 4950 cm? (b) 4951 cm? {c) 4952 em? (d) 4933 cm?
14. If the points (a, 0), {0, b)and (1, 1) are collinear then which of the following is true :
. | S | O
—t =2 —_— =] — 2 —f—=]
{B}ab rh}ah {E}al:r [d}al:r
15. The probability of getting a number greater than 2 in throwing a die 15
{a) 23 by 13 (c) 473 id) 14
16. A bag contains card numbers 3, 4, 5, 6, 7....27. One card 15 drawn, then probability of prime number card 15
9 g 8 1
8 o= 6 35 © 3 @ 3

17. A coin is tossed. Then the probahility of getting either head or tail is

l | 1

(@) 1 ib) 5 (c) 3 (d) 1

18. In figure, AT i5 a tangent to the circle with centre O such that OT =4 cm and £0TA = 30°. Then, AT 15 equal to

(a) 4cm (b} 2em (€ 243 em d) 43 cm

(ASSERTION-REASON BASED QUESTIONS)

In the following questions, a statement of Assertion {4) is followed by o statement of Reason (R). Choose the correct answer out
of the following choices.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
i)  Ais true but R is false.
) Ais false but R is true.
19. Assertion : The H.C.F. oftwo numbers is 16 and their product 15 3072, Then, their L.C.M = 162.

Reason : If a, b are two positive integers, then HC.Fx LC M. =ax b,
20. Assertion : If 4(2a, 4a) and B(2a, 6a) are two vertices of an equilateral triangle A8C then, the vertex C is given by

(2a+a+/3,5a).-
Reason : In equilateral triangle, all the coordinates of three vertices can be rational.



SECTION-B

This section comprises of very short answer type-guestions (V54) of I marks each.

1.

2L

2}

4.
15,

2 .
If a and B are the reroes of the quadratic polynomial fix)= ax® + bx + ¢ then evaluate 11_1 -I-E-I—

B

Find the solution of the pair equations %%_ | =0 and % + s;_i =15 Hence, find ., if y=Jx + 5.

OR
A part of monthly hostel charge is fixed and the remaining depends on the number of days one has taken food in the mess.
When Swati takes food for 20 days, she has to pay ¥ 3 000 as hostel charges whereas Mangi who takes food for 25 days
¥ 3,500 as hoste] charges. Find the fixed charges and the cost of food per day.

In the given fig, BD | AC C
and CE | AB. Provethat
il AAEC~AADB o,
. CA CE
® 25 D8
OR A E B

In the given fig, ?—é: %, prove that £A = 7C and £B= D

A C

n G

In what ratio, the line segment joining the points (3, 5) & (-4, 2) 15 divided by y-axis?
Prove that the line segment joining the points of contact of two paralle] tangents of a circle, passes through its centre.

SECTION-C

This section comprises of short answer type gquestions {54) of 3 marks each.

26.

2T,

18,
29,

30.

3l

Ifa, [ are the roots of the polynomial fx)=2x*+ Sx+ k satisfying the relation o® +B° +of -%,ﬂum find the value of k for

this to be possible.

1 1 1 1 1
If E[E+—],b(—+ —}c{—-l—i], are in A P, prove thata, b, carein AP,

C a ¢ a
Poove that - -:utA+m5:cA—I=1+.m5A o e e
cot A —cosec A 41 sin A

Theangle of elevation of the top of a tower at a distance of [20'm from a point A on the ground 5 45°, If the angle of elevation of the
top of'a flagstaff fixed at the top of the tower, at A 1s 60°, then find the height of the flagstaff. [Use 3 =1.73]

Prove that the tangent at any pont of a circle 1s perpendicular to the radius through the point of contact.

OR
Prove that the length of the tangents drawn from an external point to a circle are equal.
A piggy bank contains hundred 50p comns, fifty T | coins, twenty ¥ 2 coins and ten ¥ 5 coins. 1£1t 15 equally likely that one of
the coins will fall out when the bank is turned upside down, what is the probability that the coin (i) will be a 50 p comn ? (1) wall
not be a T 5 coin?

OR
A book containing 100 pages is opened at random. Find the probability that a doublet page is found.



SECTION-D

This section comprises of long answer-type guestions (LA) of § marks each.

L,

33,
M.

35.

Solve the equation by using quadratic formula: (x +4) (x +5)=3{x+ 1) (x + 2} + 2x

OR
Ifthe roots of the equation {c?—ab) x? — 2{a® —be) x +(b?—ac) =0 are equal, prove that cither a=0or a®+b*+ ¢ = Jabe
If cos® ++/3sin8 = 2sin® . Show that sin8 =3 cosd =2 cosd.
In fig., a circle is inscribed in an equilateral triangle ABC of side 12 em. Find the radius of inseribed circle and the area of the
shaded region.

[Use =314 and +/3 = 173]

Following frequency distribution shows the daily expenditure on milk of 30 households in a locality:

Daily expenditure on milk (in T) 0—30 30-a0 &0 — 90 G0—120 | 120150
Mumber of households & i o 6 4

Find the mode for the above data,
OR
Ifthe mean of the followmng data is 14.7, find the value of p and g.

Class 0-6 6-12 [2-18 | 18-24 | 24-30 | 30-36 | 36-42 | Total

Frequency 10 P 4 7 g 4 1 40

SECTION-E

This section comprises of 3 case study/passage - based guestions of 4 marks each with three sub-parts (i), (i), (iii} of marks
I, 1, 2 respectively.

36.

3.

Case - Study 1: Read the following passage and answer the questions given below.
A seminar 1% being conducted by an Educational Organisation, where the participants will be educators of different subjects.
The number of participants in Hindi, English and Mathematics are 60, 84 and 108 respectively.
(i) What is the LCM of 60, 84 and 1087
(ii) How 108 can be expressed as a product of its primes?
(iii) In each room the same number of participants are to be seated and all of them being in the same subject. What are

the maximum number of participants that can accommodated in each room?

OR

What is the minimum number of rooms required during the event?
Case - Study 2: Read the following passage and answer the questions given below.
Rohan wants to measure the distance of a pond during the visit to his native. He marks points A and B on the opposite edges of
a pond e shown in the figure below. To find the distance between the points, he makes a right-angled triangle using rope
connecting B with another point C are a distance of | 2m, connecting C to point D at a distance of 40m from point C and the
connecting [ to the point A which 1s are a distance of 30m from D such the £ADC=90° .



(1) What 1% the distance AC?

(ii) Find the length of the rope used.

(iii) Whach is the following does not form a Pythaporas triplet?
OR

Find the length AB?

Case - Study 3: Read the following passage and answer the questions given below.

The Great Stupa at Sanchi 15 one of the oldest stone structures in India, and an important monument of Indian Architecture.
It was onginally commssioned by the emperor Ashoka in the 3rd century BCE. Its nuclews was a simple hemisphencal brick
structure built over the relics of the Buddha. .1t is a perfect example of combination of solid figures. A big hemispherical

2
dome with a cuboidal structure mounted on it | T2ke @ = £l

(i) Calculate the volume of the hemispherical dome ifthe height of the dome 1521 m?

(ii) What i the lateral surface area of cuboidal shaped top with dimensions 10m * 8m = 6m?

(iii) How much the cloth require to cover the hemispherical dome if the radius of its base is 14m?
OR

‘What is the total surface area of the combined figure i.¢. hemispherical dome with radius | 4m and cuboidal shaped top with
dimensions Bm = 6m = 4m?



10

Solution

SAMPLE PAPER-2
(e} HC.Eof20and |5=5 = [10%+90%+ APTQ+ 90° = 360"
S0, 5 students are in each group. = LPTQ=T0)
20+15 35 1
e '?' 1. {dy L:tcmrcx—:nt:-i
Henee,x=4, y=3andn=7 I I
(b) The pair of linear equations in two variables 15 also = _:4_:rsx=_
known as simultaneous equations. siny sinx 3
(b) Equate value of polynomial at x=gwitha £
a-2Ta+ 196=ag= g —2Ba+ 196=0=g= 14 ioomy ziiﬂ‘E |
{d) The roots of 5x? — kx + 1= 0 are real and distinet. = - g =3
(-4 x5=1)>0=2k>20 . zsin—msE
= k> fpork<- 0= k2 50r po2f5.
x 1
ﬂ:l']' ﬂ-ﬁ,rm}-—z"ﬂ =% tan E#;
g =3+(100—1)d [usingt =a+ (n—1)d] 2
=307 =5 4004 3 Consider
= 292 -5=99d 5 b 2
- 2 .3 _3
W R L S fan x = % . b &
99 | - tan E I_'l:'.l_
& L= 5+ (50— L) (—3)=5+{-147)
=5_147 =1, =142 s e e
{e) In AABC and AEDF, 5 5
AB BC _ _ 6 9 7
B » cos’x-sinw = S50 0
A E 12. (b) Hint: Usng secton formula
13. (a) The curved surface area of new solid
=2l 4 Iyl =4t
14, (d) As(a, 0),(0, 5 and (], 1)are collinear
using distance formula,
By using
|
B C D F =2 e
AABC~AEDF 4 2
By converse of basic proportionality theorem 15. {a) Required probability o
e B 16. () Total number of cards =25
: : . Primenumber are3, 5,7, 11,13, 17, 19, 23,
(b) Hint: Using distance formula g
b a,=at+(n-l)d=a+n-1)2a [ d=3a-a=2d] Probability of pnme number card = —
=g+2an-2a=Yan—a=(2n-1)a . o, ) 13
{a) We know that height of an 17. {a) Hint: Probability of head and tail.
18. (c) Firstjoin OA.
eqquilateral triangle %a,
where o 1s the side of equilateral 0
tniangle I
| 4
|
+ AD? =Ea'1 =1B‘l‘:1 I T
4 4 A

(b} [Hint. OPLPT,0QLQT,
In quad. OPTQ, ZPOQ+ LOPT+ £PTQ+ £0QT = 360°

Then the tangent at any point of a circle 1s L to the radius
through the point of contact.


user
Typewritten text
Solution


19,

20,

1.

22

L0AT =9(°

AT
In ACHAT, cos 30° = —

oT
%zATT:hATH 2.,‘5 CIm

(d) Here, reason is true [standard result]

Assertion is false. % =192 2162
(e) Let A(x,, ), Blxs, ¥5) & Clxy, ¥y) are all rational

coordinates of a triangle ABC.

According to question, Tgal =2lx bxh.

Suppose AB as base which wall provide us the rational
number then, height would be irrational.

Henece, (x, ¥} (x,, ¥,) & (x, ¥,) cannot be all rational.
Then, third coordinate would be irrational.

For the given quadratic polynomial f{x)=ax®+ bx+¢

b

Sumofroots= (a+f) ===
a

and product of roots = aff ==
a
at + g

EIBI

(¥ +pY) 207
A EIEI
-[u+ﬁjz—2uET _2ap?

Elﬂl

(-6 [5-=]=2

[% Mark]

[¥2 Mark]

23.

and 3x + 4p = 360 - (2)
Multiplying equation (1) by 2 and equation (2) by 1. We

hawve

2x+4p=20 ~(3)
Ix+4y =760 4 [ Mark]
Subtracting (3) from (4), we get
=340
and y=-165 (from(1)) [ Mark]
Now, y=3x+5
" ¥-5 =l65-5 -170 —_I R
i T T k]
1
:=34l],y-—]653ndl=—-1—
Ok
Let fixed charge be ¥ x and cost of food per day be ¥ y
x+ 20y = 3000 A1)
x+25 = 3500 1}
By using Elimimation Method
r+ 25 = 3500
:+IQ} = 3000
Sy =500 [1 Mark]
= y =100
x4+ 20 100) = 3000 From (1)
=4 x = 1000
k x = 1000 and y= 100  [I Mark]

Fm:ddmg:mdmﬁtnfﬁ:cdp:rdayﬂr:?!m}ami!mﬂ
Given: In the fig., BD L AC and CE 1 AB

To prove:
() AAEC~AADB
_ CA_cE
® ZB~DB
C
D
lr\
A E B
Proaf:

(0 InAAEC and AADB

£1 = 22 (each 907)

£A = /A (common)

= AAEC ~AADB (by AA rule)
(@) AAEC~AADB

C—A = E{ - Angles are similar)

AB DB

. corresponding sides are proportional
Hence proved

[1 Mark]

[1 Mark]



4.

25.

16.

Given: @ ——=_—_

B
Toprove: £A =2£Cand LB =sD
Froof: In AAOD and ABOC
0a_op 5
OC OB (Cavca)
and LAOD = £BOC (Vertically opposite angles)
2 AAQD ~ ABOC (by SAS) [1 Mark]
L AA=Coand /B= D (CEST) [1 Mark]
L=t the required ratiobe K 2 1
. The co-ordinates of the required point on the y-axis is
Ki-4)+1(3) K{2) +1(5) :
T R T PiMuk]
Since, itlies on y-axis
Its x-coordinates =0
4K +3 3
" = = E==
ol = 4K +3=0= 3 [1 Mark]
; ; 3
:}Ftnqu[r:drutm-I ilm3e g [*2 Mark]

Given : Tangents AB and DC are parallel
Prove : PQ) passing through centre O
Const : Draw EQ || AB

A P B
-+ =
E 0
i -
D Q C
Proof : AB | DC

~ Sum of the angles on the same side of transversal 1=
1507

ZAPO+ ZEOP=180° [1 Mark]
ZEOP= |80° - 90° =9(°
Similarly, #EQB=00° [1 Mark]

LEOP+ ZEOB =590 +90" = | 80"
P 15 a straight line
Hence P() passing through the centre ().

k b
u+E-—=§ anc EE-E[':Sum of roots = — — and
&

8

28,

product of roots = — | [1 Mark]
[

:11+BE+:1B-%

Hnwﬂl-lrﬁl +uﬂ-{u+ﬁ}1 —cif

3 2 25 kb 2

= = . — S — B —
e e
= 25_2k=%=& k=4 = k=2

[2 Marks]

Since, a(l+l],b[—l+5 and :[l+—l] are in A P
b e a a b

1 1 [] 1] [] iJ
R e A -

So, Eh[E+EJ S c T [1 Mark]
2b b a a e ¢ 2b e b a a e
s e e T s e e e M (P— .

™ a ¢ b e a bz:' a &2 c e b b
2b-e 2b-a_ a+c

i T —}

] C b

= [2be—c*+ 2ab—a®]b=[a+b]ac

— Ik — b+ 2ab? — a?h=ale + acd

= Ihi{a+c]-azlih+|:}+|:1{u+h} [ Mark]

= Ibi{n+n]|=nz:+|:ja+u1b+|:zh

ll:lz{n +c::| =ac{a +|:::|-I--]:|\{a1 et + 28 =2ac)
[% Mark]
— Ehz{a +¢|+ 2abe = ac(a +c)+ b{a +c)’ [¥ Mark]

= Ib(ab+bc+ca)=(a+c){absbo+ca) ['4Mark]

= Zb=a+e¢(vab+be+caz0)
S0,a,b,carein AP, (Hence proved.)

LHS = cot A 4 cosec A =

oot & —cosec A+ 1

i MA+MA—{MEA—~M1&}
cot A —posec A+ 1

_ cot A +cosecA —[(cosec A + cot A){cosec A —cot A)]
oot A —oosec A +1

[2 Marks]
_ fcot A +cosec Al - cosec A +cot A
cot A =cosec & + 1

= cot A + coses



29,

30.

A=:4_:|-5A+_i =1+_1:1:|5h [1 Mark]
tm A sm A s A
1 A
Also +m5 = posee A+ cot A

sinA  smA

tA+cosec A—1 l4cosA
s c = oe =cosec A 4+ oot &

cotA—cosec A+l sinA

Hence LHS=RHS

[1 Mark]

A A
— 1M0m
Let A'B is the tower of height "H' and BC 15 the height of
flag "h’. A 15 the point on ground
Mow, m ABA'A

L L P

120 [1 Mark]

Now, m ACA'A

h+H

h+120
& B
120 —

120

tan &0°

— h=12043 =120

= h=120(3-1) = h=120(1.73-1)
= h=120=073 = h=87.6m
Height of lag =87 6m

Suppose there 15 a circle with centre O and APB 15 tangent
at the point of contact P.

[1 Mark]

Let #=CPB=n

Then, £PDC=a=2CPB
[Angle made in remaining portion of circle]

Consider ZOPC=§

[1 Mark]

= 0CP=f (~ OP=00C = radn of circle )
MNow, LPOC=2sPDC  [Angle subtends on centre]

=2o [1 Mark]
In AOPC,

LOPC+ £PCO+ APOC=180° [By angle sum property]
= p+p+2a=180°

3.

31

= 2B+ 2a=I180°

a+pj=%"=CPR+ S0PC=0PB [1 Mark]
Hence, tangent at any point of a circle is perpendicular
to the radius through the point of contact.

Ok
A
F
B
Given : PA and PB are two tangents from an external
point P
Prove : PA=FH

Const : Join OA OB and OF.
Proof : We know that tangent i perpendicular to the radius

of circle at pomnt of contact.

SOAP = Z0BP=00" [1 Mark]
In AAOP and ABOP
OPF=0F {Common)
Z0AP=A0BP  (each907) [! Mark]
OA =08 (Radii)
AAQP = ABOP  (RHS)
PA=PB (CPCT) [1 Mark]
Henee Proved.
MNumber of 50 pcoins = 100
Mumber of T 1 coins = 50
MNumber of © 2 coins =20
Mumber of T 5 coms = [0
Total number of coins = 180
= Total no. of outcomes = |80 [ Mark]
: j s 5
Then (1) P{50 p coin) = =3 [1 Mark]
(i) P(nota®S5coin)=1-P(aT 5coin) [ Mark]
10 1 17
= —ﬁa= _TE=TE_ [1 Mark]
OR
Here sample space s given as: 5= {1,2,3, ..., 100}
2 onS)= 100 [1 Mark]
Lzt E be an event when doublet page is found.
E= {11,622 33 44 55 66,77, B8 99} [t Mark]
n(E)=9 [¥s Mark]
. required probability = P(E) = % [ Mark]
(x+4)x+5)=3Hx+1J(x+2)+2x
= I+ O+ =3+ )+ 2 [¥4 Mark]

= xlt0x420=Txl40x+6+2x [ Mark]



= -3+ O0x-_Ox-2x+20-6=0 [V Mark]
= -2 -2x+14=0= x*+x-T=0 [%Mark]

We have

1 — — —
_-—ht-u'l:r =4dac 5 12 [1=4x1{<T) [1 Mark]
2a 2xl
:‘.i.t:w ﬂx:ﬂ [2 Marks]
OR

The equation
(- ab)x®—2(a—be)x + (b —ac)=0
As, the roots are equal, D=0 ['4 Mark]
= [~ 2(a?- be)* - 4(¢* —ab) (b*— ac)=0 [¥2 Mark]

= 4{a*+ bie? - 2a%he — ®b? + act + ab? — a’he) =0

[¥3 Mark]
— a*+ b’ - 2athe - +acd +ab? —athe =0

[ Mark]
= a*-Ja’hc+act +ebi=0 [% Mark]
= afa’-Jabe+c*+ b =0 [2 Mark]
Either a=0ora’ - 3abc +* +b'=0 [1 Mark]
= a*+b'+¢'=3abc. [1 Mark]
Letcos@ ++/3sinf = 2sin@
= cos@=2sinB-3sinf=(2-+3)sin®  [1 Mark]
Multiplying both sides by 24 .3, we get
(2 443088 = (24 4/3)2 =+[1)sin0 [1 Mark]
= (24 43)cosB = {(2)° = (4/3)?}sin® [1 Mark]
= 2cosB +3cosd = (4-3)sind [1 Mark]

— JeasB 4 3 cos = sin@ = sinb- icos@=2cosh

[IMark]
Median and altitude of an equilateral triangle are same
and passing through the centre of inarcle and centre
divides the median in ratio 2 - 1,
In AABD, ~Ty=0{0"
By Pythapgoras theorem
ADP=AB’_BD’= AD*=127_¢°

35,

36.

= ADP=144-36= AD =108 = 6/3cm

AD:OD=2:1 [1 Mark]

ﬂD=%AD=%xE«E=Iﬁ [ Mark]

Mow, radius of circle = 231 =2x1.73 =3 46cm

[ Mark)

Area of shaded region = Area of equilateral AABC — Area

ofeirele [1 Mark]
S

2
=T{11]1-(2ﬁ} xm=173%36-12%3.14
=62 283768 =246cm’. [2 Marks]
Here, maximum frequency =19, so modal class is 60 — 90

Mode = L+&{&] [2 Marks]
h-fH-S
Here, L=60, f,=9, fi=6.f,=6andh=30.  [1 Mark]

G- 303
Mode = 60 31][:—6]-611 =75
AT Tk
[2 Marks]
OR
X i x i
3 10 30
9 P %p
15 4 &0
21 7 147
27 g 21g
13 < 132
39 1 19
Total | £ =26+p+g | Zx fi=408+%+127
[2 Marks]
Given Efi=40=26+p+g=40= p+g=14 _{i)
[% Merk]
Lxfi 408+9p+27g
Mean, ¥ = T/ = H.?-T
= S5ER=408+9p+2Tq=p+3g=20_(n) [] Mark]
Subtracting eq.(i) from eq. (1),
Putting this value of g in eg. (1),
p=l4-g=14-3=11
soop=1l,g=3 [1 Mark]
{i) LCM of 60, 84, 108 is
[12x5=T=x9=3780 [1 Mark]

(if) 08=2x2x3x3x3=22x33 [1 Mark]



{iii) For maximum number of participants, taking HCF

of 60, 84 and 108
12 | 60,84, 108
4~W [2 Marks]
= |2
0OR
Minimum number of rooms required are
5+7+9=121 [2 Marks]
37. (i) ACE=30"+40F=2500 = AC=50m [1 Mark]
(ii) 82m [1 Mark]
(ifi)(21, 20, 28) - 28% = (217 + (200 [2 Marks]
0OR

AB=50-12=38m [2 Marks]

38. (i) Volume of hermispherical dome
O O A
_-i-m =3 x—_:'--xllxllxli_!"?-iﬂ-inu-m
[1 Mark]
(i) 216m? [1 Mark]

(iii) Cloth required to cover hemispherical done
= curved surface area of hemisphere

=2mrl=12325g m
OR

Surface area of combined figure
=2nr+ 21+ hjh
=1232+2{6+4)8=1392sg. m

[2 Marks]
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